Algebra IA






Name _________________________________ 2.5/2.6 Worksheet





Date ___________________
Hour ______
Ratios and Proportions
Tell whether the ratio is in simplest form.  If not, write it in simplest form.
1.  16 to 34




2.  17:65
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Solve the proportion.
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Write the sentence as a proportion.  Then solve the proportion.

40.  5 is to 12 as x is to 48



41.  w is to 9 as 7 is to 36


42.  d is to 4 as 32 is to 56



43.  22 is to 50 as x is to 500

Answer each equation and round your answer to the nearest whole number.



44.  If you can buy one can of pineapple chunks

45.  One jar of crushed ginger costs $2.  How
for $2 then how many can you buy with $10?

many jars can you buy for $4?
46.  One cantaloupe costs $2.  How many

47.  One package of blueberries costs $3. How cantaloupes can you buy for $6?



many packages can you buy for $9?
48.  Jasmine bought 32 kiwi fruit for $16.  How

49.  If you can buy four bulbs of elephant garlic

many kiwi can Lisa buy if she has $4?


For $8 then how many can you buy with $32?
_1411926642.unknown

_1411927127.unknown

_1411927233.unknown

_1411927343.unknown

_1411927410.unknown

_1411927462.unknown

_1411927484.unknown

_1411927441.unknown

_1411927373.unknown

_1411927291.unknown

_1411927317.unknown

_1411927260.unknown

_1411927179.unknown

_1411927207.unknown

_1411927146.unknown

_1411926766.unknown

_1411926803.unknown

_1411927062.unknown

_1411926785.unknown

_1411926703.unknown

_1411926729.unknown

_1411926674.unknown

_1411926432.unknown

_1411926537.unknown

_1411926586.unknown

_1411926612.unknown

_1411926562.unknown

_1411926476.unknown

_1411926516.unknown

_1411926453.unknown

_1411926319.unknown

_1411926383.unknown

_1411926407.unknown

_1411926358.unknown

_1411926250.unknown

_1411926284.unknown

_1411926201.unknown

